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No. of Questions : 100

W9l i WE&AT: 100
Time :'2% Hours Full Marks : 300
1
w9 : 2 2 | quriE : 300

Note : (1) This question booklet contains 100 (hundred) questions in all
(30 in Section -A and 70 in Section - B). Attempt as many

questions as you can. Each question carries 3 marks. One mark

will be deducted for each incorrect answer. Zero mark will
be awarded for each unattempted question.

T ge-gitasr d g9 100 () w97 & (@vs-o1 § 30 7
GUS-T | 70 ) | AR qoHt B B HEY H T T | TN
9 3 (f9) st w2 q% Id IAX R qF ofm
PICT G| TA% FIART U B AAEH g7 B |

(2._‘} If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

Qﬁ@ﬁmmwa@w%ﬁaﬁmﬂaﬂ,ﬁlﬁw
& IOY T
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02.

SECTION - A
gus - 9

Which one of the following should not be the first period activity ?
(1} Flag hoisting

(2) Assigning homework

(3) Announcement of the day's activity

(4) Cleaning of the classroom.

frer § @ frg Brar & geen 58 & 8t g =nfed 7
(1) ST |

(2) T8 HE H f&Gr S

@) R wx & Fred @t g & W

(4) e AN AW HIAT

Teacher knows that each student of his class is different. Which one
is the best way to handle his class ?

(1) To coach slow learner after school.

(2) To ask bright students to study in the library.
(3) To ask other students to teach other students.

(4) To organize groups for specific purposes.

(1) Rreerd ® SURT SHSNT Bl Sl e BT

(2) ﬁmgﬁ%mﬁﬁwﬁ'ﬁ%mml
3) gﬂ?mﬁaﬁmmﬁﬁq@ﬁ%%&m'

(4) ffire IRE ¥g @ F EIST BT
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03. The best method for a teacher to adopt with a pupil who frequently
stammers in class is to : '

(1) Afford the child ample opportunity to recite to the class.
(2) Ignore the child.

(3) Suggest that the parents seek professional help.

(4) Keep the child after school for individual help.

Uh AATH B A P F gHart arer a=3 B onfipT Ft &y
T IugeRT adH g8 R g

(1) mﬁmﬁmﬁwmmmaﬁl
(2) B & IYHT FHT|

(3) aﬁﬂmﬁﬁmamaﬁwwal
(4) ﬁm%mﬁmaﬁaﬁnﬁﬁmaﬂ%%f?ﬁ@r

04. A class teacher has been assigned to look after the school library
Mmanagement. The teacher's top priority should be to make sure that :
(1) no booksare lost or damaged.

(2) only books that are popular with the children are ordered.

(3) the library is used appropriately by maximum number of children.
(4)  Children are quiet while in the library.

P.T.0.

[ ]
gcollegedumas
India’s largest Student Review Platform

el



05. During the first parent teacher conference of the year, the teacher
should do all of the following except to :

(1) include the child, when appropriate.

(2) encourage the parent to talk about her child.

(3) disagree with the parent's philosophy of child reading.

(4) offer a cup of coffee or tea.

af B ger ToNTE SRTEE e #§ fre 7§ @ o F 8IS
T FH HE TGS Bl B AR
(llﬁaa’ﬁﬂﬁé\.ﬁaﬁaﬁﬂﬁaﬁqﬁﬁmaﬁﬁl

(2) aﬁwﬁaﬁaﬁ%aﬁﬁaﬁm%ﬁﬁﬁﬁﬁm
grieq |

(3) ﬁ%m—w%mﬂm%ﬁhﬁmmm@t
(4) wwmmwaﬁwmﬂﬁhaﬁﬁl

06. All of the following statements about children are correct except that :
(1) Older children in elementary school are less prone to illness
than younger children.
2) Many children do not eat proper breakfasts.
(3} Children like teachers who are firm and consistent. |
(4) Girls are superior to boys of the same age in mathematical
abilities. -

qer e ¢
@ﬁ%ﬁiﬁﬁﬁaﬁaﬁﬁ@aﬁsﬁgmaﬁ
(1) mezrﬁﬁﬁﬁamﬁﬁa%aﬁ'i,éﬁaaﬁa%gamﬁé\m‘&%uﬁ

S 9 B T
(2) mﬁiﬁﬁ'iafaaﬂlﬁmﬂﬁml —
(3) ﬁmaw@ﬁmmm%vﬁfﬁ@w
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07. If parents ask teachers about their children's television habits, it is
best to suggest that they : |

(1) prohibit television viewing by children.

(2) allow children to watch only those programmes selected by the
- parents. .

(3) encourage family viewing and discussion of jbiﬁtly selected
programmes.

(4) give children freedom to select whatever they want to see.

g ARHEE FETE F o = B A @Y Y omea
F IR H Y8 O wad orewT g@E 9€ € b 3

(1) ==t 1 MRS @A A% T
(2) = B HAT AU BT TN BT 3G H gAY T |

(3) W%mﬂﬁ%ﬂmﬁﬂiﬂaﬁmaﬁgmmﬁmﬁa
HEHA 9 e Rest #3 @ Seafed s

(4) === F SN B A @ AR IR g I

08. Sohan and Mohan have the same mental age of years 8. We can infer
that :

(1) they may have the same potential for success in school.

(2) they may have the same 1Q. |

(3) their ability to learn may be quite different.

(4) they have copied from each other on the test.

HET o Hie i ARG g 8 A # B, sEd wW aw QR
’ &H I8

T | & R |

(1) Wmﬁmﬁmwéﬁﬁ%.
(2) S9T IQ U ST 8 |epar 2

@) T Wy A A T Ry @ w3
(4) G@%hﬁw@#wqﬁm,

7
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09.

10.

11.

Of the following the most important factor for learning is:

(1) ability to read (2) a good book

(3) desire to learn (4) a good teacher.
Frer § @ otftrr & o a8 we@yel HRH @ ¢

(1) Y& @l g (2) U =S e
(3) dEw @ =W (4) UF 3T\ FATH

Ifa tcacﬁer is dealing with a challenged student, the best thing to do
for him is :

(1) to feel sorry for him.

(2) to sympathise with him.

(3) to ignore him.

(4) to train him in self-help techniques.

I TEATIE 1 Fhel g B (37T BT) & A Fae
(1) IEH FHIX 3T THe BT |

(2) IFH Gy Fegy k@)

(3) IQ ARSI HT 2 |

() I8 @F Frd B D aLH F AT T

If the following words are arranged as per dictionary, which serial will
bLe appropriate :

mﬁmﬁﬁwmmﬁm%—wmméﬁH?

(i) Preface, (i) Plucky, (ii) Punctuate, (iv) Purify, (v) Plentitude.
(1) v, ii, i, i, 1V (2) iv, 111,10,V

L 4 v, ii, iv, i, i
3) v, ii, i, iii, v (4)

-

—

collegedunia:

India’s largest Student Review Platform



12. Complete the series :

$H A9 B g B
3,9, 27, 8% Lionnnd )
(1) 144 (2) 270 (3) 162 (4) 243

13. In the following sentence mention which word out of the choices
given provides the best answer :

A school always has
(1) Teacher (2) Class (3) Classroom (4) Desk

ﬁw;m%ﬂﬁﬁﬁmﬁﬁa%@ﬁﬁhﬁ;maaﬁw
3JdY :

Q% [Qenerg g &R gar & -
(1) A=HYH (2) <RETT (3) <HEIT heT (4) 3%h

14. Communication : Message : : ? : ?

(1) Humour : Amusement "~ (2) Expression : Words
(3) Clarification : Doubt (4) Radiation : Cosmic
TYOT : HIT ;P : 7

(1) B : {S (2) o= ;o=
(3) TSEHIOT : Qiepr @) fafpor - Qeas

15. If MPOEPO means LONDON, what does NPTDPX mean ?

afl< MPOEPO @1 313919 & LONDON dl NPTDPX T
T
AR ® 7

(1) MASCOW (2) AMOSCO (3) MOSCOW  (4) MOSEOW

P.T.0.
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16.

17.

18.

19.

I go towards south, then turn to left, then left again, and then right.
In which direction am I moving now ?

(1) South (2) North (3) West (4) East

% aferor faam @Y omar § e i gedl € T @i gsT g ST
e ard | org N frg fRem @t ST W@ § 7

(1) afagor (2) TJTX (3) uf¥=m (4) 9@

Which letter is ninth to the left of thirteenth letter from your right ?

AT AMRY F 13 F T u¥ RAd ofeR § 9 § ' UR HiH-dI
T e © 7

(1) S 2) H (3) E @) G

Ramesh is 5 years younger than Rekha and Giri is 5 years older than
Seema. Sahil is double the age of Seema and Ramesh is 2 years older
than Giri. Sahil is 6 years old. 7 years ago who was the youngest ?

(1) Ramesh (2) Rekha (3) Giri (4) Sahil
89T YET | 5 ay srer & o Mt g | 5ad 981 8| aifgd

B u A & A @ ol whwr MR & 2ad s B wifed H
39 699 3) 799 Ued @€ BIeT HiF o1 ?

(1) e (2) Y (3) B (4) @A

In a row of students Ashok is 4t from the left while Gagan is 17™ fmm]1
the right. When they exchange their position, Ashok becomes 6'
from the left. How many students are there in a row ?

(1) 20 (2) 21 (3) 22. (4) 23

10
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20.

21.

22.

- s | ek | WF|E]

Find out the missing number :

TSI &1 ST HifoT -

12 | 4 9
7 8 ?
6 13 | 6
(1) 3 (2 11 (3) 10 (4)
NTSE stands for-

(1) National Talent Search Examination.

(2) National Teacher Selection Examination.
(3) National Teacher Search Examination.
(4) National Talent Selection Examination.

T aa § B

(1) AFa W= G sFniRer |
(2) A e AR I |
(3) A FraR G s |
(4) AT A= A R |

Which is NOT true for National Curriculum Framework (NCF 2005) ?

(1) provides the framework for making syllabii,

(2) provides the framework for developing textbooks.

(3) provides the framework for teaching practices.

(4) provides the framework for teacher selection.

11

P.T.0.
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23.

24.

JorTer g BuEs (T7 @ u% 2005) B R T T 7
(1) ge aregsd fFeer & [l Baas 98 Har © |

(2) %qﬁﬂgﬁiﬁ%ﬁﬂh%%&ﬁmﬂ%mm%l
(3) 7% R 3 R Bras gas B S |
(4) Tz fareroT Tga @ R BEa® ua &l © |

Recently, who has been appointed as Director of CSIR-National
Chemical Lab, Pune ?

(1) Thokozani Mazozi (2) Naledi Pandor

(3) Ashwini Nangia (4) Roger Jardine
mﬁaﬁﬁaﬂ%ﬁgﬁﬁﬁwaﬁm%%ﬁam%ﬁ,w
& Frees & qg wwgd 8 7

(1) BT wSire (2) I 9

(3) Afaar Arsiar (4) T SISEA

Who gave awards to schools based on environment-friendly practices

in India ?
(1) CSE (2) NCERT
(3) UNICEF (4) NCTE

E@gﬁaﬁmamﬁﬁwtfﬁﬂaﬁr%?
1) & o g (2) wa & & A A

o qmat@iw 0 A

12
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25. Who has been appointed as new Director of NCERT in September
2015 ?

(1) Dr. Hrishikesh Senapathy
(2) Dr. Santosh Panda

(3) Dr. Vinod Agarwal

(4) Prof. Sudesh Mukhopadhyay

e 7 & e Figfea o1 @ § oIk & B PRy @ 1T uw &
TR |
(1) =f. gfiper Y=m9ch (2) 2f. <y qrosT

(3) =f. RAFE sumEmE (4) 9r. g gEaEEE

26. Madan Mohan Malviya University of Technology is situated in :
(1) Varanasi  (2) Kanpur (3) Gorakhpur (4) Allahabad

27. What is the Inclusive Education ?

(1) Male and female children participate and learn together in the
same school. -

(2) General, OBC and SC children participate and learn together in
the same school.

(3) Children with and without disabilities participate and learn
- together in the same school.

(4) Children of all religions participate and learn together in the
same school. |

13 P.T.0.
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28.

29.

30.

geEafae fSem = 8 7

(1) Gﬁaﬁrwwﬁﬁﬁﬂ@mqﬁaﬁrméﬁ%l

(2) @, SN i uw v € T A O A ged A /e
o 2

(3) fepetiv ud HHAIT aed U & WA # UH A qed ST whT
Ad € |

(4) @l et B @, v d wpe A O A ged S Wi Ad |

The number of Central Universities in India is :

aa § A Reafyemerdl @ e & g !

(1) 27 (2) 46 (3) 48 (4) 38

Who was the first Vice-Chancellor of Banaras Hindu University ?

(1) Sir P.S. Swamy lyer

(2) Pandit Madan Mohan Malviya

(3) Rai Bahadur Sunder Lal

(4) Dr. Sarvpalli Radhakrishnan

m%ﬁﬁﬁaﬁw%nwmwzﬁﬂ%?
(1) =it 9. og. @ A (2) 9. A Higd A

(3) I Tl gl i (4) =f. gducll TLUTHETT
Unnat Bhart Abhiyan was launched in :

(1) September 2014 (2) October 2014

(3) December 2014 (4) March 2015

J=r e A & g R T

(1) Fer=z 2014 (2) oTFEET 2014 H
(3) faE=w 2014 (4) == 2015 H

14
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SECTION - B
g - g

31. Binomial nomenclature was given by :

(1) Darwin | (2) Whittacker

(3) Linnaeus - (4) Engler and Prantle

Afqe aeftereoer fear @ o -

(1) sifEd &rT - (2) @XHT BT

(@) s amr (4) GRS wred BT
32. Cell wall in fungi is composed of :

(1) Chitin (2) Cutin

(3) Cellulose (4) Suberin

FHAH Bl T Fafer = ot D

(1) e (2) Fgfe

@) dge (4) gaRT
33. Which gi'nup of plants is called Amphibians of the plant world ?

(1) Bryophytes (2) Pteridophytes

(3) Gymnosperms (4) Angiosperms

WY B B ot @ arew o @ swaEt wer o B 7

(1) srE%Eed 2) MErwEey

(@) Fr=irer (4) o

15
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34, Prokaryotes differ from eukaryotes in having :

35.

36.

(1) Mitochondria (2) Chloroplast

(3) Nucleolus (4) 70S ribosomes

e, ghiElies a B § ¢
(1) WEarpi=gar & ol (2) FAR@RE H BT

(3) gfoEied & HIOT (4) 70S TEAER & BRI

Agar-agar is extracted from :
(1) Porphyra (2) Gelidium

(3) Sargassum (4) Polysiphonia

S-S [T SIar & 7

(1) 9R®ET A (2) Sfafszas 4

(3) FmEd | (4) drehfemifEr 9
Endosperm in gymnosperms and angiosperms respectively is
(1) N, 2N (2) 2N, 3N

(3) 3N, N (4) N, 3N

qﬁ«ﬂzﬁwﬁeﬂ?ﬁﬁh@ﬁmﬁmwa’im%:

(3) 3, T (4] R OR

16
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37. Dark reaction of photosynthesis occurs in :

(1) Grana (2) Stroma
(3) Thylakoid . (4) Quantosome
ST HATOT i STy erfufar (Dark reaction) BIdl © :
(1) I H ‘2 & i
3) AsrETHE H (4) FEY H
38. Mangrove vegetation respires through :
(1) Leaves (2) Rhizome
(3) Corm (4) Pneumatophores
SIS aeeafea’ sauT wdt S -
(1) oicrt & Ao & @ et S e Q
3) = F Hremm (4) HASIBRY P Ay J

39. How many glucose molecules are required to produce 38 ATPs
anaerobically ?

(1) _OHE (2) Two
(3) Nineteen (4) Thirty eight

STiRAIsaaT #§ 38 Todlofio (ATP) ®I 3= 3 3 Seam
R S1ogalt &1 sTravamar @iy & 2 ah ok

(1) T 2) @
@) =i (4) orsth

17
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40. Sunken stomata are found in :

(1) Mesophytes (2)
(3) Hydrophytes (4)
fy gU el U NI

(1) Heieged | (2)

() TEeEEed (Sfiwg) 7o (@)

41. Wood is common name for :

42.

(1) Secondary Phloem (2)

(3) Sccondary Xylem (4)

HS & G A B
(1]%@%@%1@; @
() fadias SEad & AU (4)

Kreb's cycle starts with formation of :
(1) Citric acid (2)

(3) Oxalo-acetic acid (4)
e =eF BN (AT ATCH BT B
(1) Grglgd T g9 9

() WA ST ® a4 9

(3) SifFaal-afiiesd I & g9 4
(&) TS froTEd Ad 991 |

18

Halophytes
Xerophytes

SpEed (v
shReged (F63RE)

Pith

Cambium

s [T
Fftggq & W

Succinic acid

Acetyl co-enzyme A
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43. Kranz anatomy is found in :

(1) All plants (2) C, plants

(3) C, plants (4) Only aquatic plants
BT TR (STRet) arr st ® _

(1) @it def & 2) -3 Nef F

(3! -4 9 F (4) DasT Steirg e 7

44. Embryo sac in angiosperms typically has :

(1) One nucleus (2) Two nuclei
(3) Four nuclei (4) Eight nuclei
e # gy sy drar D -
(1) TH s 2) & ==
(3) AR F=wp (4) < Hseh
45. The most common larval forms met within crustacea is known as :
(1) Miracidium Jarva (2) Nauplius larva
(3) Bipinnaria larya (4) Trochophore larva

19
P‘T-O.
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46. Which one of the following hormones of the pituitary gland is a direct

17.

48.

acting hormone that is without interaction of other hormone ?

(1) TSH (2) ACTH (3 LH (4)

MSH

ﬁﬂﬁﬁmﬁmﬁ@ﬂﬁﬁﬁﬁ—waﬁﬁﬁmﬁﬂﬁmaﬁﬂ

& aratar Y uce gHEl e g 8 7
(1) ©1. Tq. TH. (2) ©. . . .
(3) . ud. (4) TH. TH. T

Skill is airavcossory organ of respiration in :
(1) Humans (2) Cockroach

(3) Lizards (4) Frogs

W&W%Wm%wﬁé—cﬁ%:
(1) "9 H (2) Frepae |
(3) fuawdt o (4) AGH H

Wings of insects and wings of birds are the examples of :

(1) Analogy (2) Homology
(3) Serology . (4 Mimicry
3 & q@ AR qfEEl & 9@ e g

(1) T () S &
@) S @ @) frfEt &

20
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49. The genetic material of a virus is -

(1) D.N.A. (2) R.N.A.

(3) Either DNA or RNA (4) Both DNA and RNA
U HZIH ol AT ek (ﬁﬁﬁzﬁ AfeRaa) 2 -
(1) SI. TH. u.

(2) . . q.
@B f.. oA AR, T T F Y R
4 SI. @ u. R R, uq. u. 3N

S50. Which of the following is an incorrect match ?

(1) Alexander Fleming - Penicillin
(2) Louis Pasteur - Fermentation
(3) Edward Jenner - Vaccination

(4) Antony Von Leeuwenhoek - Sterilization

ﬁl":’fﬁﬂ:@aﬁﬁiﬁﬁwwﬁgﬁﬁﬁ%_

(1) TSRS gifer - Ui
(2) g8 we=w - v (we=ee)
8) TIE ITY - AR ()

4) T A e - R (Fogsrer)

21
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51. In which one of the following groups all animals are hermaphrodite ?
(1) Hydra, Ascaris, pheretima |
(2) Hydra, Homosapiens, Leech
(3) Tapeworm, Toad, Starfish
(4) Hydra, Leech, Tapeworm

ﬁ%ﬁﬁﬂﬁaﬁﬁﬁm@ﬁﬂﬁﬁﬂa(mm)wﬁﬁa:
(1) BRI, TEhid, BRICAT (2) ®IZgl, erANEE,
(3) 2uamd, s, IR (4) @3gI, i, aqaH

52. Phylum Protozoa is divided into four classes on the basis of their :
(1) Nuclear Structure (2) Locomotor structure

(3) Mode of reproduction (4) Mode of nutrition

o AT Y ST e At ¥ R R S @
(1) P&P d¥am & M T

(2) TBMEIET GEAT D HAER T

(3) 9 & alh & MR W

(4) doer B Tl @ SR I

53. Ornithorynchusis a:
(1) Fossil bird
(2) Flightless bird
(3) Connecting link between reptiles and birds

(4) Mammal

22
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54.

95,

56.

=g B

(1) T Sifareq g

(2) T SeAEEE geft

(3) TH wAgY R weht B g 3 <)

(4) TP WU

Ichthyophis is :

(1) afish | (2) an amphibian
(3) a reptile (4) a mammal
girrifthy

(1) o wei (2) TH INFER B
(3) TH Figy B - 4) F wEd R
The action potential in a mammalian nerve fiber is generated by.
(1) Na*ions (2) K'ions

(3) Clions (4) Ca'*ions

(1) Basilar membrane (2) Otolith membrane

(3) Tectorial membrane (4) Reissner's membrane

23
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57.

58.

59.

ﬁ?{mﬁ%ma&ﬁaﬁ@‘gﬁﬁm@ﬁntﬁ%maﬁgwmﬁ
arell RrestigaT €XaT FHeardl §

(1) afaee fEreel (2) afeiferr fEreell
(3) FRfeTa Rl 4) TE=d Bl
The sarcomere is the area between :

(1) Two I bands (2) TwoZ bands
(3) Two H bands (4) Two A bands

qrRET e § & e "eg & 8 ©

(1) & oTg Jsd & " Bl (2) @ AT ITA B THA W
(3) A TF dvSE & HA W (4) @ T AgE B AA H
Hamburger's phenomenon is also called :

(1) HCO, shift (2) Chloride shift

(3) Hydrogen shift (4) Sodium pump

%@hﬂaﬁqﬁmxﬁaﬁmﬁ%:
(1) i ot (HCO,) e & - &
(2) Feirrze forge & A 4

@) eEgeE e & A 8

4) Afead T & TE G

The Vitamin known as Thiamin is also called as :
(1) Vitamin B, (2) Vitamin B,
(3) Vitamin By (4) Vvitamin B,,
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60. When an ideal gas is €xpanded, the cooling does not occur because :

61.

62.

(1) Inversion temperature is high.
(2) Mutual-attraction forces are not developed.

(3) Loss in kinetic energy is equal to work done.

(4) Molecules colloide without loss of energy.

(2) .WWWWW@?{I
(3) ﬂﬁqwﬁaﬁrm,ﬁmﬁam%wéﬁr%l
(4) Y AW F B ot By @ ey ¥

The crystals whose molecules are linear are knowh as :
(1) Smetic liquid crystal (2) Nematic liquid crystal
(3) Cholestric liquid crystal (4) Isotropy liquid

%Mﬁﬁmm@ﬁ%ﬁ%ﬁ%:
(1) ¥HRs i frea (2) ﬁﬁrﬁzsﬁiﬁag%ea_
(3) aﬁ%ﬁaa;%lﬁasﬁ?ea (4) eﬂsﬁtgrcﬁ%ﬁas(mathza)

touches :

(1) 2 atoms (2) 4 atoms (3) 6 atoms (4) 8 atoms
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63. Which one is correct statement in the case of milk ?
(1) Milk is an emulsion of fat in water.
(2) Milk is an emulsion of protein in water.

(3) Milk is an stabilized by protein.
(4) Milk is an stabilized by fat.

64. The cell potential is a :

(1) Colligative property (2) Intensive property
(3) Thermodynamic property (4) Extensive property
A« v 8 3

(1) TH e o (2) TH Fera IO
(3) T eHISEAD IO (4) Th SFEelEa I

65. The triple point is the point where :
(1) Three components are in equilibrium.

(2) The number of degrees of freedom is three.
(3) The number of degrees of freedom is zero.
(4) The number of degrees of freedom is one.

(1) Sr7 araaa ararEen 7 e € |

2) %ﬁmmﬁﬁﬁ@reﬂﬂaﬁ%l
(3) %ﬁaﬁtﬁu%gqaﬁta@naﬁréﬁ%l
(4) wm@wﬁﬁw@aﬁ%n
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66.

67.

68.

When 1 mole of an ideal gas expands isothermally at 300 K from 1
litre volume to 10 litre volume. The internal energy change (AU) for
this process is (given that R= 2cal K mole’!) :

(1) 300 cal. | (2) 600 cal.
(3) 1200 cal. (4) O (zero) cal.

et 1 ﬁami%ﬁq&sooxwmwﬁu@éﬁmm
w%mﬁlaﬁawwwﬁﬁawﬁm%lmm
? aaRe St (AU) qRads anr (Rar ar 8 R= 2cal K mole-!)

(1) 300 e (2) 600 B &
(3) 1200 Fey 2 (4) = e B

A reaction proceeds with increase in both the enthalpy and entropy. It
will be spontaneous if -

(1) AH<TaAS (2) A H=Tas

(3) A H>TAS (4) None of these

wwamwmwmauuﬁmw
it Ay |

(1) AH<TAS - (2) AH=TAS

B) AH>TAS (4) 74 @ HiS 78

Diethylether on heating with €xcess concentrated Hj gives ;

(I) Methyl iodide (2) isopropyl iodide

(3) Ethyl iodide (4) n- propyl iodide
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69. What type of radiation is used in nuclear magnetic resonance

spectroscopy ?
(1) Visible light (2) Ultravoilet light

(3) Radio waves (4) Micro waves

WWW(NMR}Wﬁ%&mmWW
qged Bl & 7

(1) 39T THIET (2) SicgmETEde THI

(3) I T (4) wrEER AL

70. Which hybridization is associated with bond angles of about 120 degree ?

FF-|1 SEISIEIAT T 120.%;ﬂarraaawaaﬁfiaa%?
(1) sp (2) sp? (3) sp’ (4) sp’

71. Of the following non-electrolytes which one will produce a solution

with the lowest freezing point if 158 of the respective species dis-

solved in 1kg of water ?
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72.

73.

74.

The para magnetic molecule is :

Pt & &1 SR oroy B

1) o, 2) N, @) cl, (4) clo,

An particle of mass m and Charge +q is situated exactly at the mid
point at the line joining the two stationary particles each of charge +q.

If the distance between the two stationary particles 2L and the par-

ticle at the center is given a small displacement along the line joining

the two stationary particles th qu illati
ko P ¢s then the fréquency of oscillation of the

M SSAHE TAT +q ST W7 w5 o7 2L Rery

ﬁm%)gmwaﬁaw%msqﬂﬁmﬁa?ﬁm(?g
ﬁaﬁaﬁﬁ%@wnﬁrm%vmaﬁeﬁam

R Roet T ¥ 1 56 MR o Ao omafr @y ;)

q | 1 |
(1) = -
2n 3
mzre L (2) dne \\mp3

of this sphere -

(1) 160 volt/meter (2) 120 volt/met
. eter
U volt/meter (4) 60 volt/meter
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75.

76. The meniscus of a liquid contained in one of the

@W@reﬂaﬁﬁmnﬁmm@fﬁﬁ
g W & 2
aﬁ/ﬁﬂ%lzﬂﬁ%%&ﬁwzg&wa@%wnﬁaﬂrm?

(1) 160 dlee /Hlo (2) 120 diee /Hio
(3) 80 die /Hio (4) 60 dlee /Hto

Ratio between the bar magnetic moments of two similar (in size) bar
magnets is 1:2 these are kept one over the other such that their
similar poles coincide each other and are allowed to unilerate in a
magnetic field and the time period of oscillation is found to be 3 sec.
If the poles of one magnet are over turned and the system is again
allowed to oscillate in the same field the time period of oscillation will

be :

Q) 35 ¥ @ [ 0O ;‘J—; qo @

limbs of a narrow U-tube

pole pieces of an electromagnet with the meniscus

is placed between the
gnet 1s switched on, the

1 the line with the field. When the electroma
the limb. This indicates that the liquid 1s

liquid is seen to rise in
Diamagnetic

(1) Ferromagnctic (2)

(3) Non-magnetic (4) Paramagnetic

30

gcqllegeduniag

—



77.

78.

(3) ST 2 4) SHg=HE

A coil of inductance 8.6 mH and resistance 60 is connected toa 12 v
battery. The current is in the coil will be 1.0 ampere approximately at
the time : '

(1) after 1.5 mili. sec. (2) after 2 mili.sec.
(3) aftgr 1.2 mili. sec. (4) after 1 mili.sec.

@@sﬁﬁmm&ﬁmﬂ T Y 6 B, 12 de 3 e
ﬁﬁh@aﬁﬁ%tﬁu@ﬁﬁﬂwwml.owmwz
(1) 1.5 ffto o a . (2) 2.0 Fefto To T |
(B) 1.2 fircfio Jo 3= (4) 1.0 fA=iio Fo T17

In an A.C. circuit the current js given by | = I, sinwt. The value of the
time taken in changing the current from jts maximum value to R.M.S.
value of the current in this circuit will be :

@mmwﬁwﬁwwmhlumnm;%uw%mﬁw
mﬂaﬁwwmw.amﬁﬁwﬁwwm:-

n 2n :

(2) = (3) -4—:)- (4) =

20

(1)
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79. The threshold wavelength of a metal is 4000 AU. If light of wavelength

3000 AU irradiates this metal surface the maximum kinetic energy of
photo electrons is :

fepelt arg & ford el ad@ed 4000 AU 21 gf¥ 3000 AU dEmeed

mmrg«aﬁwwmﬁm?rﬁm&rg@afﬁfaﬁaﬂﬁaﬁﬂ
it Hol s8Rt | '

(1) l16eV (2) 1.38eV (3) 1.0eV (4) 1.2eV

80. A proton moving with constant velocity, passes through such a place
where its velocity does not change. If § and g represent the electric
and magnetic fields respectively then indicate the false statement
about these fields at this place :

%ﬁaﬂ@ﬁﬂaaﬂaaﬁmgﬁw@wﬁw%aﬁ
=gd AT F HIE URadw 7€ Barl A E T B FHHM: Aga qATl
g@mﬁﬁﬁ@ﬁaﬁmw%aﬁﬁﬁmﬁaﬁ?—ww

T 2

(1) E#0,B=0 (2) E+0.B20 (3) E=0B=0 (4 E=0,Bz0

81. The black body radiates energy at the rate E watt/m? at a high tem-

, T |
perature T K. When the temperature falls to 3 K the radiated energy
will be :

@Wﬁ:ﬂ‘s’aﬁmﬂTﬁwmm/ﬁomﬁﬂ%wﬁaﬁ

Wﬁﬁw%lwmgx W{ﬁmmgaﬁwﬁﬁmaﬁ:

E E E
15 @ 3 ST () 4=
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82.

83.

84.

The peak value of the A.C. voltage across the secondary of a trans-
former in a half wave rectifier with no filter circuit is 95 volts the

maximum output D.C. voltage across the load is :

9
(I) 4.5volt (2)  9volt (3) 7—2—volt (4) 18volt

a@aﬁﬁmﬁmaﬁ%ﬁw%%:mﬁ(@ﬁm
e 1 i 71 o éﬁﬁ%fmﬁw(@s)wfaca(ﬁ.ﬁ.)%ﬂa
T S&HTH A fpa= B ?

9

(1) 459 (2) 9 g (3) ﬁa‘lﬁ (4) 18 Alee

The current gain for a transistor working as comman base amplifer is
0.96 . If the same transistor is used as comman emitter amplifer and

the base current is 25uA then the collector current is :

(1) 400 A (2) S00pA (3) 600pA (4) 800uA

(1) 400 #TZH Tfgyy (2) 500 #ZEH ufqygy
(3) 600 HTZH Thggy (4) 800 ATEH uftqyy

The kinetic energy of neutrons in a neutron beam js 0.0327eV. If the

half life of neutron is 700 sec. then what fraction of neutrons in the

travelling a distance of

10 meter ? (mass of neutr
18 1.675 x10-27 kg] -
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85.

86.

Tk g gﬁfﬁwzgﬁaﬂﬂ%ﬁmﬂ.mww%mﬁwaﬁ
37 3G 700 Yo T A 10 HexX T T HW 7 I N Fher i
8 & ST 7 (|gE @ SR = 1,675 x10-27 o)

(1) 2.45x10-6 (2) 1.25x10-4

(3) 4.76x10-5 (4) 3.96x10-6

If an iron needle floats on the surface of water then the reason for

this event is :
(1) Viscosity of water

(2) Buoyancy of water

(3) Surface tension of water

(4) Gravitational force of water

Hﬁ'@%ﬁwqﬁmﬁaﬁww%ﬁﬁ%a‘rsﬁmw
HIT &
(1) gl @l $FrEdl (2) Gt @1 Scead S

(3) 9rft &1 g T (4) Gt @ JoEE S

A sateliite orbiting in a circular orbit of radius R completes one revolution

.1 3 hours. If orbital radius of geostationary satellite is 42000 km.

then the orbital radius R of the satellite (in Kelometers) is :

& 3ES @
WWWM@MR%@WWﬁs
?ﬂu%m%\uﬁﬁsﬁiﬂﬁmm%q&ﬂﬂwﬁaﬁaﬂumo

ﬁauﬁoéﬁm%q&ﬁumaﬁaﬂa(ﬁﬁﬁ)ﬁmz

(1) 9000 (2) 5250 (3) 10500 (4) 21000
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87. The babies born before 37 weeks of gestation are -

(1) Full term babies (2) Preterm babies

(3) Small for date (4) Low birth weight babies
THIETRT % 37 §AE & gd ot fy dpewnd ¥

(1) B = Ry (2) s Ry

(3) ¥ B 8 (4) & AR ST Ry

88. Severe protein-calorie malnutrition in children resulting in a shrunken
elderly appearance is called:

(1) Anemia (2) Kwarshiorkor

(3) Marasmus (4) Goitre
aﬁﬁﬁr%—wﬁw%mmﬁl@@, S
R W wEX ¥ : L

(1) EFITegar (2) =FEfRIrEARERT

(3) ArETg (4) TETEEx

89, Pow:erful chemical substances secreted by endocrine gland and
carried through the body by the blood stream :

(1) Hormones (2) Enzymes

(3) Cofactors (4) Coenzymes

STA-THE At @ FifE e = R F yarfea ufrqemsh
U] FHedar B o

(1) &M= (2) wmEH

90. What is green gold ?

(1) A green algae (2) Tendu Patta
(3) Horticulture product (4) Green manure

35 P.T.0.
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91.

92.

93.

94,

i Mes &1 8 7

(1) B0 G (2) AZ G

(3) erfdaear IdE 4) 80 @

Which one of the following fruits is most suitable for jelly making ?
(1) Mango (2) Papaya

(3) Guava (4) Banana

frefead § & FF-A1 G e g & fog adur SUgH © 7
(1] A (2) 99rar

3) 3ITHEG (4) BT

Following 15 a complex molecule that contains genetic information .

(1) DNA () RNA

(3) Protein (4) Oleic acid

rfarfage wep sifea of9] © forad SiAfesdh e fafea @

(1) $o Tlo Qo (2) 3T¥o UHo Wo

(3) W (4) afferes 3T

The transfer of information from sender to a ret?eiver -

(1) Extension (2) Education .

(3) Communication (4) Management

ArE T OTEERAT @ gEeT @ Tl g

(1) 99 (2) forem

(3) AKX (4) T

Sulphur containing fibre is : |

(1) Nylon (2) Rayon (3) Wool (4) Silk

HeRT HEEl gF ©

(1) A (2) ¥ (3) & (4) o
36
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95. Large intricate designs transferred to fabric are called :

(1) Dobby weave (2) Spot weave

(8) Jacquard designs (4) Lapper weave

TH 9T I3 Sifed Romgt e HeaEr

(1) =7t dig (2) e &9

(3) SrprE fEomEs (4) «UT dig
96. A true bias is cut at an angle of :

(1) 45° to warp (2) 75° to weft

(3) 120° to selvedge (4) 180° to warp

RF I aaE frafiad @rer a3 e o) g

(1) ad | 450 2) AT F 750

(3) AT q 1200 (4) ad | 1800
97. Keratin is found in the following :

1

(1) Nylon (2) Wool (3) Cotton (4) Rayon

et Frafefea & arr o e :

(1) S (2) S+ (3) @ples (4) =TT
98. Printing method originated in Java is :

(1) Batik printing - inti

(3) Roller printin .

g (4) Discharge printing

AT H gy Rifdr fify @

; - :

(1) @i ﬁ‘ffé‘T (2) =% Bifer

(3) Y fufd (4) TS Ry
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99. Maximum resiliency is found in :
(1) Silk (2) Polyester

(3) Rayon (4) Wool

J=gay S rread ® 9rEr S g
(1) Yo (2) YifTTEX
(3) = (4) S

100. Moral anxiety is converted into an objective fear known as :
(1) Reparation (2) Ratimization

(3) Projection (4) Anxiety

W%%eﬂﬁﬁ?ﬁwﬁmﬁm%ﬁ%:
(1) R (2) FemmETAT

(3) oSt (4) f=m

8,000
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